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Part B
Answer either Question B5 or Question B6 on pages 13 to 20 in the answer booklet.
There are 28 marks for each question.
Four of these marks are for Spelling, Punctuation and Grammar [SPaG].
Do not write on this insert. Any work on the insert will not be marked.

Do not place the insert into the answer booklet at the end of the examination.

Either

BS

B5 (a)

B5 (b)

B5 (c)

B5 (d)

Practice and Organisation

Explain how Sikhs worship in the home.
[6 marks]

Describe the design of the gurdwara.

[6 marks]
‘Sikhs do not need a special building for worship.’
Do you agree? Give reasons for your answer, showing that you have thought about
more than one point of view. Refer to Sikhism in your answer.

[6 marks]
‘The langar is the most important activity of the gurdwara.’
Do you agree? Give reasons for your answer, showing that you have thought about
more than one point of view. Refer to Sikh arguments in your answer.

[6 marks]

[SPaG: 4 marks]

[Total marks for this question: 28 marks]
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Do not answer Question B6 if you have answered Question B5.

or

B6

B6 (a)

B6 (b)

B6 (c)

B6 (d)
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Festivals and the Gurus

Describe how Sikhs celebrate Baisakhi today.

[6 marks]
‘Sikhs do not need to celebrate festivals.’
Do you agree? Give reasons for your answer, showing that you have thought about

more than one point of view. Refer to Sikh arguments in your answer.
[6 marks]

Explain what Guru Arjan did to develop Sikhism.
[6 marks]

‘Guru Nanak and Guru Gobind Singh made an equal contribution to the
development of Sikhism.’
Do you agree? Give reasons for your answer, showing that you have thought about
more than one point of view.
[6 marks]
[SPaG: 4 marks]

[Total marks for this question: 28 marks]

END OF QUESTIONS
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